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TS TTHE 0 TR S.

(6) ITRUFHRD THhel g Fod I Giedt JUR A, T FoR IW Gigd TH I feeww § AurEe Jwm
&,

(7) wga wdigren Ina i Tedie AT IUEa e [RABRRS G S 0 @ ardie. @

Iefter’’

ar$ig
T wyAafreheEt s fafte el 9% diada @ gvagitre smamrel Ao sm @ ufensama ShEawen
gfigrardt ararard dvema AW TR, € d@ wiwdda st wvAyieenst W/ welt, e vt gvAgfeedta i snea
HUTETE! TEUTE TRy W1 AT v seia g, 7@ gfig W g T sgm srvft el o=
R AT W e ‘afaie g e vl swoararamar afifan-82” andier sqdiaen
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T F1Hd
A, 90 =T TEfEERE SiERA I  Yawud s’
e e fadfle
B. wefiet wiet fadiem II. &&= gd
C. SwET TR I, . et
D. Tiwn we 3Regge A% IV. s
Terivme feww #ga 6 = @
V. et e
A B C D
(1) I 1v 1 I
2 1 Ini mr 1
(3 II IO I \Y%
4 IV 1 v II
Match the following :
Honours Honoured
A. Postage stamp by Austrian I.  Prime Minister Manmohan Singh
government on goth birthday
B. Clinton Global Citizen II. Hardeep Puri
C. Jefferson Reward III. M. Karunanidhi

D. Ph.D. by Moscow State Institute IV. Bunker Roy
of International Relations
V. Ashwini Angadi

A B C D

(1) Im v I I

2y 1 I 1 1

3 o m 1 Vv

4 IV 1 vV I
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2. ‘ofsam wan € wreEeR S @refie v e
. 500 WETe FrAfTHe FOM=T AL T qTHRAT.
¥,  TEUTHS SerEe R I waret P s st
. 71 gErE il o are e geo 39 AR, W @ ufger g e,
3.l wmeh fear qifie dome Seg ST &g gt deE1 @ I I SR R
FUWET THIT FIUAIET ST
o feerea faumrdeht S/ faum/faum st e 2
(1) a3 (2) ¥az § ot %
(8) %ae A, § v % (4) wd

Consider the following statements about ‘Sodium Air Heat Exchanger’ :
a. It is used in the nuclear reactor producing 500 megawatt electricity.,
b. It is manufactured in the Walchandnagar industry, Maharashtra State.

c¢. India is the second manufacturer of the plant in the world, France being the
first.

d. When reactor is closed due to natural calamity or technical problem, it draws
out the remaining heat and thereby saves the reactor from explosion.

Which of the statements given above is/are correct 7
(1) aonly (2) bandconly
(3) a,bandconly 4 All

3. i3 TeER TR TS AT Agcd @t TeH Jeard TearEmel Aar fasm fdwes
gl R, wEn T fafyy v wiar et 9. e 39 S SER /@

gt 1t 2
(1) 3reaey fawfim (2) ey fomfaa
(3) qoHTeRs g faenfe (4) ot fasfm

A panel headed by RBI Governor Raghuram Rajan, has recently recommended a
new development index for the States, dividing States in different categories. Which
of the following is not one of them ?

(1) Least Developed (2) Less Developed
(3) Relatively Developed (4) Entirely Developed

Freed] TS ST / SPACE FOR ROUGH WORK
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4,  gEHArEE SEaed @reta o R w0
A, g € TRIZEISA Jog S ararelt ufRa oy WM Hiedien qeiiEl aderer
F1 TR 7.
¥, Y AT I SRIE STERY FEUT.
%, gl 1000 YETsEh! Haes 270 T WG AT § A0 G WY T 400 Iu
T
T guitw g onfor weae uier n ud St srford wala aeu guieETn MY
ST 3R,
FOAYE Fivra/wIvre frar /favm stet sma ?
(1) a3 A (2) T a1y &
(3) Fas A, § T % (4) wd
Consider the following statements about Supernova :
a. Supernova is a process of the dying of a star by explosion and released matter
creating a ring-like structure.
b.  Remains of the dead star are called remnants.
Approximately, out of 1000 Supernovas, 270 have been discovered and only 2 in
the last 400 years.
d. Indian scientists Subhasis Roy and Sabyasachi Pal recently have discovered
the youngest Supernova, Remnants.
Which of the statements given above is/are correct ?
(1) aonly (2) bandconly
(3) a,bandconly (4) Al
5., RIEFA AR ?

(1) e A wiaen werg,

(2) St afRelt Ired st sAfvass wEh.

(3) “mdia ufgelt dEdat el FR,

(4) e gfgeh gl

What is Stella ?

(1) The world’s fastest woman athlete.

(2) The world’s first reactor of maximum capacity.
(3) The world’s first car to run on solar energy.

{(4) The world’s first submarine.
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6. wRaTE ‘ard il foee’ 2013 (W whEF) s @elie e fEwa =0
3. THY EIE 1340 A
§.  UH 5 IS 3T,
%, o= = vy 9o,
g AR TR " T 450 B,
T B HvR RFum/Rum s a3t 2
(1) 3 %a&d (2) AT g
(3 wafrg (4) et ¥ R T

Consider the following statements regarding ‘Mars Orbiter Mission’ 2013 of India :
a. Total weight — 1340 kg.

b.  Total 5 scientific instruments.

¢. To explore methane.

d. Total cost of mission - T 450 crore.

Which of the above statements is/are not correct ?

(1) aonly (2) aandh
(3) candd {4) None of the above
7. “qEEVETY QR 2013 Hewtd g ‘A’ 9 =t B wdie shgan amer.
A (55fF) B (87)
A, . TS deEeE I &9 Ha
B. . fov= $ur gnea IL. el
C. weEwe fohwm wm I foum 3 sfienteh
D. Tiase i gt IV, il &an

A B C D
(1 1 11 Im IV
(2) II III v 1
3y mr 1 1II I
4 IV I I I

Match the list ‘A’ with list ‘B’ with reference to ‘Padma Bhushan’ awards - 2013.

A (Person) B (Field)
A.  Dr. Saroja Vaidyanathan 1.  Public Affairs
B. Dr. Vijay Kumar Saraswat II.  Art
C. Mahargj Kishan Bhan II1. Science and Engineering
D. Shivajirao Giridhar Patil IV. Civil Service

A B C D
(I II Im
2y I 1 1v I
3 U 1w 1II I
4 Iv 1 II I
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TS 3 TN HEer — 20137 S et faue e o

#. i T 5 e =y TR g frevamn siven.

¥ 75% Wl T 50% U Sy TR,

F. feIm T 6,000 AIg= AL

g, 6HE A 6 q FETHa=a oI THd G W9,

alia ¥t s fauym/faas g#ie g 2

(1) & %Fa (2) ¥ ®E

(3) g (4) =l I Fo@d T8

Consider the following provisions of the ‘National Food Security Law — 2013 :

a. A beneficiary shall be entitled to receive 5 kg foodgrains per month.

b. 75% population in urban areas and 50% population in rural areas will be
benefitted.

¢.  Maternity benefit of not less than ¥ 6,000.

d. Children in the age group of 6 months to 6 years get appropriate meal, free of
charge.

Which of the above statements is/are not correct ?

(1) aonly (2) bonly

(3) candd (4) None of the above

TN e STeea @iele g fomm 0

A, fm vfoge gw afEfs el om.

9. T g FEsdisian 3 TiEite oo s s sa.

F.  HE 832 YHEN 3G TR sfagmma gafa Fidl 3R, W Figalsn gaid @8=
28 T9 T AR,

3. UoEd e et ot ong S gEiE auiug g TiEive S satardl gol
e AR AT,

Tl Hiva faum stew amdg ?
(1) %hae 3 a1 & (2) Hges o HM &
(3) Thoes A, § IO & (4) @&

Consider the following statements about Eleanor Catton :

a. She won the prestigious ‘Booker Prize’ for literature.

b.  The prize is bestowed on her for her novel ‘The Luminaries’.

¢.  The novel is the biggest one containing 832 pages, while the novelist is the
youngest one, 28 years old, in the history of the prize.

d.  She is the last winner of the Commonwealth of Nations because the prize will
be opened for all the people of the world from next year.

Which of the above statements are correct ?

(1) aandbonly {2) bandconly

(3) a,bandconly 4y Al

T HHETETA! SR / SPACE FOR ROUGH WORK P.T.O.
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10. = ‘AT g B Wi S e

A (g9 B (3#R)
A 3R I  Om Yeoare &9
B. friw II. goEt= &3
C. srgE-] III. 379 UeeTe 9uTe
D. 3™ IV. wagis %9

A B C D

(1) III v 11 I
(2 1V I I II
3) II I I v
(4) 1 II v III

Match the list ‘A’ with list ‘B’.

A (Missile) B (Type)
A, Agni-l L Medium Range Missile
B. Nirbhaya I[I.  Supersonic Cruise
C. Brahmos-I ITI.  Short Range Missile
D. Akash IV.  Subsonic Cruise
A B C D
(1) 1II v II I

2 IV I I IT
3) I 1 IT1 v
4y 1 I v IT1

11, TBREEE YRAeEEd Hivd fFum st gt 2
(1) WEWERE Gfeq dgeet 3Tiet 7 SqaIT Wiater Fufd Rfae 1.
(2) Hde TH SAT TRAA FgH el 1.
(3) U™ Hadiel WU [WHR TEH Hivard el
(4) dfA dgee qEeR Ul yom Terg a wata a3,

Which statement about the Bharat Ratna of Maharashtra is incorreet ?

(1) Before Sachin Tendulkar, 7 Maharashtrians have been honoured with Bharat
Ratna.

(2) Only one woman has so far been awarded with the Bharat Ratna.

{3) Only one person has been honoured posthumously.

(4) Sachin Tendulkar will be the first player and the youngest to get it.

HeedT HATHTGT ST / SPACE FOR ROUGH WORK
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12.  SdSTRR FIEE I GrEgeaTye gt uaeh.

QQDA

N Ui I TREETAER U e fisg wree, [‘A
BT TSI FEATGTATEL FIIG HIVeHT A foF7e ?

O o 0
o o © OO0 o
o o o OO o
O o 0
(1) (4)
A circular paper was folded as shown below.
The last fold is punched and holes are made as shown here. &
How would the paper look like when it is unfolded ?
O 0 o
o o o QO ©
o] o o OO o
O o0

(1) (2) (3) (4)
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13, WA S Feiew qge 7 Fl@diarg n a1 wWied Jifow vamrdt fom, drn, 7 9 ol
o =efie fag el sir. crTaTeE gde ATfeedt arem vom faoRfiw e amm,

f&tan e aTacielt S HatH §5e 9 HIGAIETg el SUE I

A ITciedn =R GeAla @ awed R,

w1 weSvit g, e, faem 3 fe s fafay o= g wene e e,
T T gH-AT HHTRTE Aot anE & o AR ameft o,

TH-A AT [ et g aftu we R,

T BN S (MBI W) swere A8 @ {qetr g wHie et g
oW g GE-I1 RIS Sath! THHEHTEA] IR FEeied AR

T qiet Mg wRum Fer .

dgm e TrerE giyE e 3R,

et 9 e divme uftar Fea wdE @A Wad) sEear g,

(1) wft (2) e (3y fam (4) @h

Nima, Razia, Mary and Zury are finalists of the healthy and caring mother contest
organized by the school. Read the following information about them and name the

first winner.
Person wearing green dress is the best healthy and caring mother.
They are sitting on four chairs arranged in a row.

All of them are wearing dresses having different colours namely, white, pink, green
and blue.

There is a single runner-up and she is sitting beside Mary.

The runner-up is wearing pink dress.

Zury is not sitting at the end and is not the runner-up.

The winner and the runner-up are not sitting adjacent to each other.
Mary is wearing the white dress.

Razia is wearing the pink dress.

Participants wearing blue and pink dresses are sitting at the end.

(1) Mary (2) Razia (3) Nima (4) Zury

FTEIT HIMETET 9IFT / SPACE FOR ROUGH WORK
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14, T, T, Reermme, TE 9 B ¥ S TEUA F FaE adia U @ielid U . A o
el Wed T AT geen 3% efl, @icfia Sl Tord TS Y @1 U= /9H S
I 9 @ WA dRl @ Ardl. e Jededl I g8 R{ed] EAEl S a9
UEEE. T T 989 Ao aedid Saodl ST SR T 919 | 9F %A, e @
T T 912 @I ATl JoET UTEE 4 TEEe. @F Eed Jgu U 6l W hl.
AY AT TAFH TG =1 91 Wiedll. HE dbH R 9 owng FHEEA Wad 9 =
W T Tl Toreft asen wreear ?

1y 71 (2) 176 (3) 75 (4} 70

Janu, Nanu, Dilshad, Pascu and Hanu share a room in the city where they work.
Nanu’s mother came to visit him and gave him a bag of shrikhand sweets. As no one
was around Nanu distributed sweets in five equal parts and started eating his share.
When there were five pieces of his share left with him Janu joined him. Nanu added
his five pieces to the remaining sweets and Janu divided these into five equal parts.
When they both ate their share Pascu joined them. He distributed all remaining
sweets into five equal parts. Each one of them present there ate his share of sweets.
After some time Hanu and Dilshad returned from work and joined them. They
distributed the remaining sweets equally among them. If Dilshad gets six pieces of
sweets, how many total pieces did Nanu eat ?

1n 71 (2) 76 (3) 75 (4) 170

15.  wivren TmiefiE yiem amidhn Taeen v e yaom feed freaen s ?

w9 mb

(1) Danfor ¢ (2) A a7 B (3) DarfrB (4) D =nfor E

eedT HIHRITS! JT / SPACE FOR ROUGH WORK P.T.O.
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Which of the labelled images are formed by rotating the unlabelled image in the
same plane ?

%@ﬁﬂ P

(1 Dand C (2) AandB (3) DandB (4) Dand E

16. WY, W, ¥, M, B 9 99 2 "er fim AR wewAeR EErem W19 dan eeid erEm
TR G ATGH SO AMEd. WY FIEA HOR § At HIe JA ST FTaen s AR,
firg € wy 9 7ol @i wel et srgd ot ueh e S o,
EIAteh! i e A SEuaTeAt YgdHI HHT AT8d FEVE AT TZ 8% Iehal. 91 whIvrd
e AT IR 9
(1) 7 - ¥ (2) 7 -5 (3) 79 - (4) WY - |

Madhu, Bholu, Kanu, Gyanu, Minu and Nalu are friends and are sitting on six

chairs that form the sides of a hexagonal area. Madhu is sitting opposite to Gyanu
and is to the immediate right of Kanu. Minu is sitting between Madhu and Nalu and
is exactly opposite to Bholu.

Three of the following pairs are alike on the basis of sitting arrangement and thus
form a group. Which of the following pairs is odd ?

(1) Nalu-Bholu (2) Nalu—-Madhu (3 Nalu -Minu (4y Madhu - Bholu

17. Waxba 3 ad b WS AR 3747 S @ a x b x ¢ x d 77 faumrea smuR géervh
ST faramrea gegas @t 2ar v 7g7 2
(1) a & b U3 8. (2) a % cd HS IR,
(3) a,bdc? TeV ARA. (4) d 8 b= W B,

If a x b means that a is the brother of b, then from a x b x ¢ x d, which of the
following statements is not necessarily true ?

(1} ais brother of b, {(2) ais brotherofc.
(3) a,bandcare male. (4) dis brother of b.

oeq] HITTS! STATT / SPACE FOR ROUGH WORK
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3]

40

38

37

40

36

42

40

43

39

39

40

38

41

37

40

41

39

42

38

13

43

41

44

42

41

44

39

41

(1)

39

41

(2)

42

41

44

42

41

43

39

43

(3)

43

39

41

40

38

37

40

36

42

40

43

39

39

40

38

41

37

40

41

39

42

38

(4)

Locate the missing section of the following pattern in the provided options :

43

41

44

42

41

44

39

41

(1)

39

&

(2)

42

41

44

42

41

43

39

43

(3)

39

41

(4)

202
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19. 92 Fdesrhn Ragehien swfavarh dierd &t 7 s wm fa amea.

/

NNP%

N

A@‘@z& e

C D
HI 9T A1 T wm a2
(1) D 2y AdB
(3) w¥d C (4) TOAUH) uandt TE

(Given here is a cast iron design for circular window and some of the separate parts.

O INN

L/

&b N T

Which of the option/s is/are not part/s of this design ?

(1) D (2) AandB

(3) OnlyC i4) None of the above

Hoeg] SHTS] SIFT / SPACE FOR ROUGH WORK
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20. QEIA weaei= fhma fondt 2
§§ x 26.5 x }(E — §3 % .6_6 x 16-5
2 4 2. 4
5—3x—19§+-10—6x16-5+§—6—x16-5
2 4 4
(1) 255 (2) 128 (3) 43 4) 10
What is the value of the following expression ?
5—3x 26.5 x 106 _ 33 x 66 x 16-5
2 4 2 4
53 (106, 108 165 + % x 165
2 4 4
(1) 255 (2) 128 (3) 43 (4) 10
21,  IRd e fftgor U @ s o

femrrelt foret smepefia qrafaeeht R, fomm A’ B’ wfa B aw 9, B’ B’ wid A mnt 9, ¢
‘B vl A Anl ;DB 9da G AT 9 ‘@ B wda Fam 9@; F B wa G un S 9
‘ol G A 6. wd e e e waeRgd R se et sten stesa
TYSTAT HEATa Hid AT ?

ferarren 371, Frava 3w, ad waide sia g TR,

B D W
C F E
T feien soudia Sivk fBu= @9 aR ?
(1) ‘A’ D = Iwad IR, (2) ‘A’ D =1 SARE AR
(3) ‘C'%°‘A’=T1 INF Q. (4) ‘T8 ‘A’ =41 39 HE.

FTEd] HIHIAIS! TN / SPACE FOR ROUGH WORK P.T.O.



202 16

Observe the given diagram carefully and answer the question.

From the position given in the diagram, plane ‘A’ goes via B to airport ‘E’; ‘B’ goes via
A to F’; ‘C’ goes via A to ‘E’; ‘D’ goes via G to ‘E’; ‘G’ goes via F to ‘E’, ‘F’ goes via G to
‘B’ and ‘H’ goes via G to ‘E’. After half an hour of their starting time when they are -

midway to their destinations, indicate which one of the following is true ?

The speed, the starting time of all the planes and the distances between any two

neighbouring airports are the same.

B D W
S T
C F E
Which one of the following statements is correct ?
(1) ‘A’is South-West of ‘D. (2) ‘A’is North-East of ‘D’
(8) ‘C’is to the North of ‘A’. (4) ‘F’is South-East of ‘A’.
22, HgNEES g Pt S qoR Iaa s A
a W{Wﬁ
b. HEEGTE
c. qugm
d. @mm
e. YT
(1) a,b,c,d, e (2) a,c,b,d, e
(3) a,d,b,e,c (4) a,b,d,c,e
Arrange the following peaks of Maharashtra in descending order of their heights :
a. Kalsubai
b. Mahabaleshwar
c¢.  Saptashrungi
d. Torna
e. Trimbakeshwar
(1) a,b,c,d, e (2) a,c,b,d,e
(3) a,d, b,ec i4) a,b,d,ce

o] HHTATS! ST { SPACE FOR ROUGH WORK
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23. frareamy g8 faeuia wivien gewme Mew vedr ?
(1) ol THgEsT Ao G an.
(2) STETEAT ITHTTEE IUR FrEH an.
(8) ST ITEMNEE AU FHETED.
(4) e gggEE o) whEES.
Which of the following factors is responsible for the winter rains in eastern
Vidharbha ?
{1) Monsoon winds from Arabian Sea.
(2) Monsoon winds from Bay of Bengal.
(3) Cyclones from Bay of Bengal.
(4) Cyclones from Arabian Sea.

24, WA foam yS= TAOTAT Jat FEE A

A, W g sl

%, HEESTEt 5. gt

(1) 3,9,%, % (2) 9,%,8,H

3) %, A, ¥ (4 ®,9, 3,8

According to the rainfall received, arrange the following places in descending order :
a. Matheran b.  Amboli

¢.  Mahabaleshwar d. Panchgani

(1) a,b,cd (2) b,e,d, a

{(3) b,ec,a,d (4) ¢, b,a,d

25. foeg 9 R g gier 3R wio fagm st e 2
7, Wiy g a9l I e .
¥.  Ysn foe W IeEAd e IR,
%, Hicer Fegard Wi Iered B .
8. oM fSera™ TN IMEH Uad 9.

(1) 3, %, 8 (2) #,9 (3) (N, 49, % 4 &, 8

Which of the following statements are true about the districts and the crops ?
a. Nashik district is the leading producer of bajra.

b. Bhandara district is the leading producer of rice.

¢.  Soyabean is not produced in Kolhapur district.

d. Sugarcane is produced in Thane district.

(1) a,ed (2) a,b (3) a,b,c (4) e, d

FoTd] PHTEIS FART / SPACE FOR ROUGH WORK PT.O.
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26. 2001 99 ugmPTE Hoar faum fogn fEaamy sma g 2

(1) ArTg (2) e

(3) HIeET (4) o

Which division of Maharashtra was leading in well irrigation in 2001 ?
(1) Nagpur (2) Nanded

(3) Kolhapur {4) Pune

27.  wrelter 3T ot groen FHEY SRS 91 iR Sehedl ST Bl 7
(1) wem, werew, fiysmaam, g, &3
()  fivemasia, aleee, a9, veren, ol
(3) AT, TEER, Haemasn, @, feu
(4) AeTE, I, g, IS, 39

Which of the following dams are included in the Kukadi Irrigation Project ?
(1) Bhatghar, Bhandardara, Pimpalgaonjoge, Wadaj, Dimbhe

(2) Pimpalgaonjoge, Manikdoh, Wadaj, Bhandardara, Dimbkhe

(8) Yedgaon, Manikdoh, Pimpalgaonjoge, Wadaj, Dimbhe

(4) Yedgaon, Yeldari, Hatnur, Wadaj, Dirnbhe

28. HEWE Ik HEWHEATH GEAT HIVHT YT HiB1d Fel ?
(1) aHaUd AEH (2) SeRIaTd =egm
(3) wAATUT wogT! (4) SEGER TEA
In which Chief Minister’s period was Maharashtra Industrial Development
Corporation started ?
(1) Vasantrao Naik (2)  Shankarrao Chavan
(3) Yeshwantrao Chavan {4) Vasantdada Patil

T HITATSE ST / SPACE FOR ROUGH WORK
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29, SIS @ ;

freg FHGET T (2001)
A fogt I 321
B. & IL. 67
C. FgER 1. 165
D. vk IV. 260

A B C D
(1y I I v II
2y 1I I 111 v
3 IV I I I
4y 1 II m v
Match the following :

Districts Population density (2001)
A, Sindhudurg I 321
B. Nashik II. 67
C. Nandurbar 1. 165
D. Gadchiroli V. 260

A B C D
(1) III I v II
2y 11 I I v
3 IV I I Inir
4) I II III v

30. UmeE F s fER fhma, cmmm ‘srEner’ fiegarear avigare S fies e, o
AlEl,
(1) fie, Sew, i, arg, I, 3, g8
(2) SNUTEIE, T, #1g, IHEERE, L, 30, o
(3) Arfaes, omene, e, SwAETE, e, gO, 3T
(4) Y, MM, IAeHI, A, AT, HERT, 0
Select the districts in clock-wise order surrounding ‘Ahmednagar’ district.
(1) Nashik, Jalna, Beed, Latur, Pune, Thane, Dhule
(2) Aurangabad, Jalna, Beed, Usmanabad, Sholapur, Thane, Pune
(3) Nashik, Aurangabad, Beed, Usmanabad, Sholapur, Pune, Thane
(4) Dhule, Nashik, Jalna, Latur, Sangli, Satara, Pune

HeeqT HIIIS! F0 / SPACE FOR ROUGH WORK P.T.O.




202 20 A
31. Tevea fusm=at e gamn aiea fee Svareds wrafie ST Hreedr. @ HEYHT S e

g ?
(1) <fw et (2)  FAEE ma
(3) sl wTa (4) < (OueEr) st

Christian Missionaries started primary schools to provide free education to the
children of the poor. What were these institutions called ?

(1) Basic schools (2) Anglo-Indian schools
(3) English schools (4) Charity schools
32. UENIEW TSy 959D it g% e,
(1) wedl fagea Tl fig (2) Herem s B
(3) Tt e ¥ (4) T B e
The Library Movement was started by _ in Maharashtra.

(1) Maharshi Vitthal Ramji Shinde (2) Mahatma Jyotirao Phule
(3) Maharshi Dhondo Keshav Karve (4) Gopal Hari Deshmukh

83. favaw vaidia godd wnfaq grea ol fgg=m af wiwwen gt 2

a.  Ulgdl HEwE,

b.  RE I

c. Tau] Wt ST
d. W femEE e,
e. Sl YGHASAI.

£ Hiohs el M.

g. AEY 9 e,
(1) b

{2) e

(3)

g
(4) b, ed g 5 wia gh= wgd

Many got converted to the Christian religion after being impressed upon by the
equality existing in Christianity. Who amongst the following did not do so ?

a. Pandita Ramabai.

b. Narayan Sheshadri.

c.  Vishnu Bhaskar Karmarkar.
d. Ramkrishna Vinayak Modak.
e. Baba Padamanji.

f. Nilkantha Shastri Gorhe.

g. Narayan Vaman Tilak.

(1) b

(2) e

3) g

(4) b, e and g, all the three options are incorrect

FEET HTTHIS SR / SPACE FOR ROUGH WORK
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34. HEWEW HaW Y FiEER T T e,
(1) Tt g (2) SAY UG HERA
(3) wifafie T ifea (4) Tt BN GHE
In Maharashtra the parallel government of the people was established at Satara by
(1) Swami Ramanand Tirth (2) Chhatrapati Shahu Maharaj
(3) Krantisinha Nana Patil (4) Gopal Hari Deshmukh
35. e, RE it st A9 sawE (VNG Biel) J5as IAT IO g% FIA.
(1) TEHd e TR (2) wanfi TaHe dted
(3) eifafEg = wifed (4) ST GeaHd
People of Yavali, Chimur and Ashti led the Quit India agitation, due to the
inspiration of
(1) Rastrasant Tukdoji Maharaj (2) Swami Ramanand Tirth
(3) Krantisinha Nana Patil (4) Achyutrao Patwardhan
36. =ywien sfan wEl vaiar ToweeAa Shefed TG 3T Azd

3. SENABEHA ‘AYNIE A qEn TR e,
q.  HOE SEIGR NIqE giaa el .

%. % §% F1cArd [SreuTe A0 3.
T

T A GEIR ARSI G STt TsAHed TodreAl dione Aanfads o™
guTiaE el 3.

T feoiean RumR$ FHur/FAord S0t A9 ?
(1) Fas 3 (2) hae ¥ WU §
(3) haes A, § o =® (4) wa

The provisions made in the Constitution to ensure the dignity of the individuals are

a. The principle of ‘Fraternity’ included in Preamble.

b The dignity is ensured by Fundamental Rights.

¢.  These are justiciable.

d. To make citizens free from wants and misery, Directive Principles of State
Policy are included in the Constitution.

Which of the statements given above is/are correct ?

(1) aonly (2) aandbonly
(3) a,bandconly (4) All

Y] BTN T / SPACE FOR ROUGH WORK P.T.O.
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22 A
SEIBIHT TETA Poee TETEHET SIS A AR
(1) e, fo=w, agr, favam, sum
(2) FEr, e, fwam, ag, s
(3) witerat, fomm, fovam, 3omem, wgr
(4) Ta=w, sifveaedt, suram, fovam, sgr
Correct sequence of conferred ‘Liberties’ in Preamble is
(1) Expression, Thought, Faith, Belief, Worship
(2) Thought, Expression, Belief, Faith, Worship
(3) Expression, Thought, Belief, Worship, Faith
(4) Thought, Expression, Worship, Belief, Faith

38.

IR U=l FafdTdt faa=ugUd B qe Sotedn @retd atgaiar fa=m &0
F.  TSB b i FHg i uewtsy A Al e

9§, UHTH AR,

%. ifge wmdiw s Far.

8. Uil Artfeea.

T faumdl o Ste amg/aned ?

(1) e 3 (2) *hae o1 Iy &
(3) HaS 3, F M H (4) =&

Consider the following provisions put forward as proofs of originality of Indian
Constitution.

a. Strong Centre and distribution of powers between the Centre and the States.
b. Integrated judiciary.

¢.  All India Administrative Services.

d. Single citizenship.

Which of the statements given above is/are correct ?

(1) aonly (2} aandbonly

{3) a,bandconly (4) Al

FHoeq] HIAEIS! SR / SPACE FOR ROUGH WORK
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A
B.

(1)
(2)
(3)
(4)

23

Tl g Al sreeie T T
qOIYO] FERSEET A8 IO Thied THat
T WY e FAm e
eres I Tt TS TS
e R o W Gty T
A B C D

111 I i
I II 111 v
111 v It I
It I v 111

Z02

I o 3est A
1. Fedid sredH

I g1 & =g
Iv. %4t fegew

Match the description of Indian federation with the authors :

A

(1
(2)
(3)
(4)

Unitary state with subsidiary
federal features

Neither purely federal nor purely
unitary but combination of both

Federation with strong centralising
tendency

A union or composite state of
novel type

A B C D
II1 I Ii
I II III v
IIT v IT I
II I v I

I.  Sir Ivor Jennings

II. Granville Austin

III. Durga Das Basu

IV. K.C. Wheare
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40,

24 A
‘Sterefier AyEEd faurETE = %
. 3nft ITEn S Al g =raeE I I fee e,

F. gl AECAe R hEd S8 ISl SRR TR HIEE W AR 6
HTT AfTHAET 23 Tha.

3. AAIEIH Beed Tedsed geEd fiden oredl g fsfawmed dEie e

TS <hIEdl I,
%aaﬁamaaamaﬁmmma?
(1) Haa A (2) Fds & M ®
(3) *Hdes 31 3N =+ (4) hde 3, T M &

Consider the statements about writ of ‘Habeas Corpus’:
a. The writ can be issued for the enforcement of Fundamental Rights.

b. The poWer to issue the writ is conferred upon the Supreme Court and the High

Courts.

c¢. The Court may direct the detaining authority to produce the person before it

and justify the cause of detention thereof.

d.  Writ can be issued to secure the release of a person who has been imprisoned

by a Court of law on criminal charges.
Which of the statements given above is/are correct ?
(1) aonly (2) band conly

(3) aandconly (4) a,bandconly

Hoel] HETATS! SR / SPACE FOR ROUGH WORK
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41, TSUEIAG YEE FASATE] Holell FHIRY Aihuare FEid! ®Hut SvEEs AR ?
Tresetl rigt.
g, T ST e st AP wded Wi el wifge.
%, & sl oA FHA O TR,
T THIENTE gEHEhd Tuade amfermed T smfla e dea.

Tl fami SR atet I/d ?
(1) hde ¥ (2) <haes & AT &
(8) hae 3, 9 I F (4) &d

How is the inclusion of Fundamental Duties advantageous to the success of

democracy ?

a. When the Constitution aims at social and economic transformation the citizens
should observe minimum discipline.

b.  For the welfare of state and individuals, citizens must abide by the duties.

¢.  These duties are complementary to the Fundamental Rights.

d.  The inclusion will develop civic sense among the citizens of civilised society.

Which of the statements given above is/are correct ?

(1) aonly (2) band conly

(3) a,bandconly (4) All

42, A AN SRR e WeEETl agaer e S
7. PO @ JHaRERs 5 T YR 96, Yo, Fedidad a1 sge aWen 39 .
F. 7 Ad @9 IRarent dfudtef sar s,
g, anfifes smviiamfea we ugedt @ aaaT ST ST ST e ST,

Fler fauritehl wivg St aR/aTmed ?
(1) was A= (2) g § N+
(3) ham 3, § AT =+ (4) , 9, % anforg

Consider the provisions regarding financial independence of Supreme Court Judges :
a. Their salaries and allowances are determined by the law of Parliament.

b.  Their salaries, allowances, pension cannot be varied to their disadvantage after
appointment.

c.  All these expenses are charged on the Consolidated Fund of India.
d. During Financial Emergency, President can reduce their salaries and

allowances.
Which of the statements given above is/are correct ?
(1) aandbonly {2) b and conly
(3) a,bandconly (4) a,b,candd
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43.  IF SIEAT AT
‘37

A HEYd AHHR
B. Hifd Fdww o
C. g TR @ 34| Aaferen
D. oftemof

A B C D
(1) IV I a1 1T
2y IV IM1 I I
3 IV {11 II I
4) 1 I v 11
Match the pairs :

‘A7

A.  Fundamental Rights I.
B. Directive Principles 11.
C. Residuary power to 111.

Union Government
D. Emergency iv.

A B C D
(1 IV I I II
2) Iv 111 1 1
(3) IV 111 11 1
4y 1 III v I1

[

a
1. e s wfae
1. e Hfaus
II1. s gfaum
Iv. smies faum

(B,
Weimar Constitution of Germany
Canadian Constitution

Irish Constitution

American Constitution

44. wvadl g @riaid S o g7 2

A wiSE HEE
%,  HEHAHE TR

q Gieed ggd
. aam 9y

ol

(1) sea A e (2) wedFsAMIe (3) wHaATIE (4 FH S

Which are not the subject of Concurrent List ?

a. Criminal Law
c. Public Health
(1) aandbonly (2) canddonly

. Criminal Procedure
d. Marriage and Divorce

(3) banddonly (4) conly
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45. “TId GHIUR NS/ HA AT AIE), THOE WAAIET FS HAT dUR AR AN
TaTdA & T SYA TG 316 ST YU A § ST e 31 ?
(1) I T EE
(2) 3. oy v :
(3) . . TUFIH
(4) @i €3N, eE

Who said that, “Liberty cannot be divorced from equality, equality cannot be
divorced from liberty. Nor can liberty and equality be divorced from fraternity.” ?

(1) Pandit Jawaharlal Nehru
(2) Dr. Rajendra Prasad

(3) Dr. S. Radhakrishnan

(4) Dr. B.R. Ambedkar

46, I THICR § Hare e wifed) ifteeRrear, 2005 HE A9 g,
(1) foum - st
2) Fum -
(3) Fd AT AT HEd I
(4) o IE ARG HET AW
High Courts and Supreme Court are not in the ambit of Right to Information
Act 2005.
(1) Yes
(2) No
(3) Only Supreme Court is
(4) Only High Courts are

417, 3 Fa wifght e ofte gew TiEd ey B
(1) o Ty Ty (2) ot aTEa TSl
(3) s geamg fism (4) ot o meh

was the first Chief Information Commissioner of the Central
Information Commission.

(1) Shri Rangnath Mishra (2) Mr. Wajahat Habibullah
(3) Mr. Satyanand Mishra (4) Mr. Shailesh Gandhi

Foeg] HTHETITS! ST / SPACE FOR ROUGH WORK P.T.O.
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48,  wifacret wifedt € S shrea Wfad st wreasht fofes o @ @ aifed gde asa
feetft oifes
(1) 24994 (2) 48 9™ (3) W T (4) 15 faame

When an information demanded is related with life or liberty of a person, it shall be
provided within

(1) 24 hours (2) 48 hours (3) one week (4} 15 days

49.  HRATedl A HERIETE AIEd! qgdTesdl s @l gt ?
(1) fIcsar=a 3 G FEd WENIPTE! HAawRf Tararl gan 7%
(2) SRS g IhEEd FETIETE WHarsf cwharl gum 9%
(3) 9l TFEE &G HEWIETET HHareh TR gAR 11%
(4) UFOT I TR Wrereht Trkan) qER 13%

What is not true of the statistics of Maharashtra vis-a-vis that of India ?

(1} Maharashtra has about 7% of India’s total number of districts and villages
(2} Maharashtra has about 9% of India’s area and population

(3) Maharashtra has about 11% of Indiz’s area under cultivation

(4 Maharashtra has about 13% of India’s tosal forest area

50, uw.d.w. T =l B 3rsft ofR. (Feghin uy)
' (1) 7T 2| o (2) stfEwmifasm gEw Org
(3) ofiemeE o) e (4) FOATh ¥ It
ATM is abbreviatedas ____~_ in Networking.
(1)  All Time Money (2) Asynchronous Transfer Mode
(3) Automated Teller Machine (4) All of the above

51. SO Jae-g-se MM wffe AT vk e quR dhete Wifgd = damo dan o= RREm

EREIiG! 3R,
(1) e-ge (2) g
(3) 3-§a (4) I (1)@ (2)

is an Integrated Text-to-Speech and Text-to-Braille system for the
vigsually impaired using information extraction and retrieval technique.
(1) Shruti-Drishti (2)  Door-Drishti
(3) e-Braille {4) Both (1) and (2)

HTHT HHWIS! ST / SPACE FOR ROUGH WORK
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52. HIUCIE TY TS BN 8 afoweEdd [GiTe Sudea SEE GETEE "isar A4 )

Y ?

(1) Togdit firere Ferell waelt 3 gafi 99 T SFren NTEmE
(2) Tt FerE el arwelt @ wafim wu vsa s stftwmanfiEe
(3) Tpadien Rrersiftem wWy gefta 99 19 gar iR

(4)

Tyydien frersifiEam a gefia o o Saren sfinmnfiams

A bill to increase the area of any Union Territory can be introduced in either House
of the Parliament

(1

(2)

(3)

(4)

on the recommendation of the President and after referring it to the concerned
Union Territory.

on the recommendation of the President without referring it to the concerned
Union Territory.

without the recommendation of the President but after referring it to the
concerned Union Territory.

without the recommendation of the President and without referring it to the
concerned Union Territory.

53. Wrcteeh! wEarEt Hid wfdw SETde I IThedTd TTHATeAT Hel SEd Hifgd! e ?

(1
(2)
(3
(4)

TGS §-TTesaw Hidw feefieal e
e 3760 widw feefisgtt fred
frdan e afdy feefedt 1ea
Hisd 3reRg wfaw feeltestt fed

delivers Government Services over mobile device using applications

installed on the user’s mobile handsets.

(1) Mobile e-Governance Service Delivery Gateway
(2) State e-Governance Service Delivery Gateway
(3) Media e-Governance Service Delivery Gateway
(4) Modern e-Governance Service Delivery Gateway
54. TS ot Wi, A wEE wig areft ammR.
(1) dIcS I1EE 99 Hut (2) IR ITES AT HIHS
(8) aTE T A9 HiERANH (4) Fcg TTgE Ad ez
W3C 1s abbreviated as
(1) World Wide Web Company (2) World Wide Web Cascade
(3) World Wide Web Consortium (4) World Wide Web Content

HTTgT HIFTATS! JAFT / SPACE FOR ROUGH WORK P.T.O.
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55.  digcl WA G gt v ?

(1) 9% (2) #H-s% (3) TA-8000 {4) WH-80000

was India’s first Supercomputer.

(1) MAC (2) C-DAC (3) PARAM 8000 <{4) PARAM 80000
56. @l fegemn A diftan ofw ufmmn s Seee 1158 9 1246 =0 afiE 9 S

(TTS® |1a-g) =1 fovarand sveien 31 2

(1) 3-9== (2)  3-fagrrmes

(3) 3-EE HEH-HY" (4) 3-HeI-eEE dEg

Which of the following is a project by Media Lab Asia for 11" and 12'h created in

multimedia for the subjects of Math and Life Science ?

(1) e-science (2) e-vigyanshala

(3) e-lifescience-maths (4) e-math-lifescience
57.  wclieriish S i e a9 e el & ww w2

(1) AR (2) 3R (3) #r (4) #HR

institution in India undertakes research and development work in the

area of Microwave Engineering and Electromagnetic Engineering.

(1) SAMEER (2) AMEER (3) MEER (4) SEMEER
58. oim: Stefier feedl .ud T SE-U%-01 T GERAH "Wal 2004 7 HEifE oA

AT R gfger fomifesw 3w Bl 3w

(1) 38 (2) IegEe (3) 3-USgHTH (4) 3-Heim

is India’s first Thematic Satellite dedicated exclusively for educational

services launched by GSLV-F-01 in September 2004.

(1) E-SAT {2) EDUSAT (3) E-Education (4) E-SAT-COM
59. dr3.amAewm. (v et e wegied g TFhmed aerl) 3 “sea Faeme

ol i) foreen 99R el @ A1 916 STSEeA! T,
(1)  3-9HT0 (2) HMEW (3) s-IEEdd (4) 3-3TE

is a project of Deity (Dept. of Electronics and Information Technology)
which is meant for Identity Management.

(1) E-pramaan (2) Aadhaar (3) E-identity (4) E-ID

FEIT HHNIS! T / SPACE FOR ROUGH WORK
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60. oY@ wifd 3 R S (e wiowy) sfufm, 1989 &1 . Wl

stftfrafm wtoma emen.

¥, gl af 9 sgfee st faeg Som srEmEwE (Atrocities) T ATEaUaTEE!,

¥, FEENNE Ged TeavaEid! e e s

F. oH ey Ui

g, 37 THHEAT TEAAT 9 ST SAfhe QA AT .

(1) 3 % (2) wAAtiawea (3) ¥, Hais (4) IHawd

The Scheduled Castes & Scheduled Tribes (Prevention of Atrocities) Act, 1989 was

enacted to

a. Prevent the commission of offences of atrocities against the Scheduled Castes &

Scheduled Tribes.

b.  Provide for special courts for trial of such offences.

c.  Provide relief.

d. Rehabilitation of victims of such offences.

(1) aonly (2) aandb (3) a,candd {4y All the above
61. g Wi g syl s (s gfday) srfufiam, 1989 S8R ‘e v

. v g e 309w wonw were @vard fohar fvare v qrew.
9. ‘T e R defamd wwaw yga O e ad s

%, @R fEanf fFar Saet 72 gEe w.
.

T A Siaag wel e waren fafiEe sneamw waeH wwaw sfidt rged ym
TrEu.

(1) FIafTasm (2) 9 %ad (3) 31 A &F ®ad  (4) oot ad

What amounts to ‘atrocity’ under the purview of the Scheduled Castes and
Scheduled Tribes (Prevention of Atrocities) Act, 1989 ?

Forcing to drink or eat any inedible or obnoxious substance.

a
b.  Compelling or enticing to do bonded labour or work as a ‘beggar’.

c. Instituting false or vexatious suits or criminal proceedings.

d. Forcing or intimidating a member not to vote or to vote for a particular
candidate.

(1) aandbonly (2) bonly (3) aandconly (4) All the above

FHeegT HIHTATS! SN / SPACE FOR ROUGH WORK PT.O.
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62.  @relie fearren g1 wltaye atfafan, 1961 < sgeme fomm &1 9 wter wfa faw
H. BT 8 AT I TR § GEAIH I HUETT A frevarsii A,
9. B2 8A Ia Tl en A § Tog o v st st St e
®. T gEl UheyR A onedt s 5 st 9T v feden s s TR
BT fohar gear ATl FUANTER TeTETE/AErETET S .
T AN B veg CETE qENe fahe wEre e srfiemn fmiy somn eeqvas eviedl.
(1) 31 & 2 IaiFEE (3) FAWMEwEm (4) TS T

Consider the following statements with regard to Dowry Prohibition Act, 1961 :
a. The offences under Sec 8 of this Act are cognizable and non-compoundable.
b.  That under Section 8A burden of proof lies upon the person prosecuted.

c. Every Dowry Prohibition Officer shall exercise and perform his powers and
functions so as to prevent as far as possible, the taking or abetting the taking
of, or the demanding of dowry.

d. The word Valuable Security’ denotes a document which is or purports to be, a
document whereby any legal right is created.

(1) aonly (2) bandconly (3) canddoenly (4) All of the above

63. fawd e APt wiwg werTdl sTRifSE eft Teft @t 2
A, HYE YA HiEeT quehT= §odd 9 S|l el a8e gl e 3 st
¥, fou g daom=me 3= suaEnEt.
%,  udty @ ST aats et mevarsstan e ufE/monel qam e,
3. HY® UgredAn aiy ugier Higen e s sf/aumedt ot o,
(1) ¥ %o (2) 37 o701 & Herd
(3) W, wmafrg (4) o1, 9o e

What for was the Nairobi Third World Confererice held ?

a. To review and appraise the achievements of United Nations Decade for
Women : Equality, Development and Peace.

b. To eradicate violence against women.

To create national mechanisms for women’s advancement to the highest
possible levels.

d. To develop mechanism to appoint women at senior levels in the UN

Organization.
(1) aonly (2) aandbonly
(3) b,candd {(4) a,bandd
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64, WS Gfaus g ey aEd 7% A 31 BE B Siven HEWiE AT STesH A 2
(1) TenE SifusR 9 Ariesis: ar
(2) g MM T BLHR FTA TER FIY
(3) wHH HEHN ugd
(4) omfvEof atg

The Indian Constitution has a close resemblance to the UDHR with respect to which

of the following ?

(1) Fundamental Rights and Directive Principles
(2) Centre - State relations

(8) Parliamentary form of Government

(4) Emergency Provisions

65. §d <ud g ATRTHN WIS TAUGLiEG FEY < TR HATd GRRT il daer ?
(1) a3 [ILO] (2) IR [UNESCO]
(8) TfE® [UNICEF] (4) Tg A3 [WTO

The idea of the creation of an impartial institution of Human Rights in all the

countries was initiated by which organization ?
(1) ILO (2) UNESCO
(3) UNICEF (4) WTO

66. WAl 9ed UL AW AP AR TY9AT Hoa a6l gefl ?
(1) 1990 (2) 1991 (3) 1992 4) 1993

In which year was the National Human Rights Commission established in India ?

{1) 1990 (2) 1991 (3) 1992 (4) 1993

FeqT FHTEIE! 9T / SPACE FOR ROUGH WORK P.TO.
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67. T UG SNl A AEYW WU, TEN @reeedl et o uft suan 5ar8 el a1 wrefe T
v Al A T e ase 2

(1) W g |fgar, 1860

(2) T UHet g% qieh

(3) vl g% www sfufEm, 1955
(4) e T

If a person is restrained from taking water from a newly dug up borewell because he

is an untouchable, which Act out of the following can appropriately be invoked ?
(1) The Indian Penal Code, 1860

{2) The Universal Declaration of Human Rights

(3) The Protection of Civil Rights Act, 1955

(4)  All the above

68. wielicl Ueht hivren @t < SRl wHE TR s @ e 7
(1) WHE AYFHE 9 Igad
(2) rEAfTE ST FFA AT IgEAT A FEY HwAT
(3) (1) anfer (2)
(4) TR AT g fEETER

The Human Rights Commission can enquire into complaints of which of the
following ?

(1) Violation of Human Rights

(2) Negligence in the prevention of such violations by a public servant

(3) (1) and (2) both

(4) Violence due to external aggression

Feed] HIHRITS! AR / SPACE FOR ROUGH WORK
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69. e whsus wfufem, 1961 =fifeh Hven wren 99 gg@ fawg g oM ?

(1) et ger Afufem, 1872

(2) Wi sqaER HizdT, 1973

(3) w8 @fgan, 1860

4) 0w

Apart from Dowry Prohibition Act, 1961, which other law has provision against

dowry ?

(1) The Indian Evidence Act, 1872

(2) Criminal Procedure Code, 1973

(3) Indian Penal Code, 1860

(4) All the above

70. £ ey sfufrm, 1961, = otava ggan <t Snfwa earw el wmadt @1 FREE &S
vl ?

(1) 6 wie=mian =it 7, 4 awt wha arg wwa
(2) 6 ufg=men =i T, 5 I A g THA!
(3) 6 wig=mien S+ T8, 6 aui v ag wwHar
(4) 6 ufgmmsn w=f T, 7 awt w=fq ag W

What is the period of imprisonment for advertisement of Dowry as per Dowry
Prohibition Act, 1961 ?

(1) Not less than 6 months, may extend to 4 years
(2) Not less than 6 months, may extend to 5 years
(3) Not less than 6 months, may extend to 6 years

(4) Not less than 6 months, may extend to 7 years
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71. WA ged ool qgd ush e woT TevH Weole 3. T vy e

(1) 2ol uga wigs = ore sifusrl 9 3gud R,

(2) e Ugd Hotdd IR 9 Ig AR,

(3) @l 9gA AT W1 TR @ aed wfaE B

(4) a2

The system of Devdasig in India exists as a religious practice. Select the correct
response,

(1) Practice of Devdasis is a vielation of Human Rights of women.
(2) Practice of Devdasis is a viclation of Fundamental Rights.
(3} Devdasi system is trafficking in human beings.

{4) All the above

72. AU gE T AfTaEE, 1955 9T TR U ST A g e B
(1) eI e fan
(2) goTe faran
(3) el Turem
(4) = T e AT

Punishment for abetment of offence under The Protection of Civil Rights Act, 1955 is
(1)  Punishment provided for the offence

(2)  Double punishment

(3) Half punishment

{4) None of the above

73. UHd HAfYeerrEn dfvas JEEMT Hivre fEawt e ?

(1) 10 A= 1948 {2) 10 ¥<aT 1948

(3) 10 ferw 1948 (4) = It

When was the Universal Declaration of Human Rights made ?

(1) 10" August 1948 (2) 10" September 1948
(3) 10" December 1948 (4} None of the above
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74, YA SUEHIHD A SRR dER e
(1) Fraeefi AR (2) Yafts sfer
(3) W= AR (4) Fhe 31 T
Following rights led to the formation of Human Rights :
(1) Legal Rights (2) Natural Rights
{3) Ordinary Rights (4) None of the above
75.  IEWHEA E TIPS Yeid Hem yfaaeia et og 2
(1) 10 (2) 14 (3) 19 4) 21
Discrimination is prohibited by the following Article of the Constitution :
(1) 10 (2 14 (3) 19 4) 21
76. T A 14 9N 99 WA A Ted o AEE g sfer d@faaEe @ w5
9T I (Part II1) W&l @ 31995 (Article) TUGE #%4 YgH Heit 32, foFad wamem 9
HIvTET =g ? T Nl o
(1) 863 Te¥A — =g 19(F)
(2) 939 B - 3TYERE 213
(3) 869 YA — IS 2137
(4) 933 EIET — Ig=g 19(%)
Right to Free and Compulsory Education to Children between age group of 6 to
14 years was created by an amendment and introducing an Article in Part III of the
Constitution. Which amendment and which Article ? Select the appropriate pair.
(D 86™ Amendment ~ Article 19(f)
(2) 93" Amendment — Article 21A
(3) 86'"™ Amendment ~ Article 21A
(4) 93" Amendment — Article 19(f)
77.  SIIgUR A, 2000 FER AR 97 fedt s ?

(1) 21 aufEret (2) 18 Futa

(3) 18 awhared (4) 21 a9t

The Juvenile Justice Act, 2000 would apply, if the age of an accused person is
. Select one.

(1) Below 21 years (2) Above 18 years

(3) Below 18 years (4) Above 21 years
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78.  “Arfa fUwR N gEd WEAA § W& gHe Saftg AR oEe,”
& Iguon wrefie 39 wivea gEdsa satas g 2
(1) fogaar g, 1993
(2) AaETaeHTE et g (UDHR), 1948
(3) fomarde ((eeEn) faeft arfirmo a finen, 1951
(4) T, FT, FAFHE FeF 9 AE HIOTAT IFRT TR A 9 et @, 1975
“Human Rights and Fundamental Freedoms are the birthrights of all human
beings.”
This resolve was made during which of the following ?
(1} Vienna Declaration, 1993
(2) UDHR, 1948
(3) Convention on Prevention and Punishment of the Crime of Genocide, 1951
(4) Declaration on the Protection of All Persons from: Being Subjected to Torture
and Other Cruel, Inhuman or Degrading Treatment or Punishment, 1975
79. ‘R W & ava saet ofad” s Fratest @ geena foen ang
(1) @.3%. T {9, YNd TR
(2) TR &, gERE TSy
(3) e meft for. RE wER
(4) g 4. e T
“Procedure established by law must be fair” was held in the following case :
(1) D.K Rana v. Union of India
(2) Gadkari v. State of Maharashtra
(3) Maneka Gandhi v. Union of India
(4) Surajv. State of Kerala
80.

T3 iete rfafaw, 1951 =31 i TR <47 e e S0l WudTE] SutEe 787 7
(1 & (2) = (3) e (4) FA

L

Which animal is not included in the definition of ‘cattle’ under Bombay Police Act,
19517
(1) Elephant (2) Camel (3) Sheep (41 Dog

o] BIHTHIS! ARM / SPACE FOR ROUGH WORK



A 39 202

81. fagiumrear vgdia ammer feer i@,

(1) Y& IYTR (2) AT

(3) afIm (4) femeft

Point the odd district out in the manner the district was created.
(1) Mumbai Suburban (2) Nagpur

(3) Washim (4) Hingoli

82. TR WUEE oAt fhdt AN ®& JEE™ ST 3 qraRemul feed) auieda weumon
B TR ?
(1) 54 10 9uid 7 50 Tuiwda
(2) 27 39l T 30 auiwa
(8) 123 1599id a 75 auiudd
(4) 54 1099 3 100 Fuigdd

When do the coconut trees start bearing fruit and until what period do they keep
bearing fruit ?

(1) Between 5 — 10 years and upto 50 years

(2) Between 2 — 3 years and upto 30 years

(3) Between 12 — 15 years and upto 75 years

(4) Between 5 - 10 years and upto 100 years

83. Toraardia nifg snfters anfor qiftra w2 Fomran FreavmaTeht amrawe 2
(1 Foea gerferrt
(2) Foem 9 97 =mardy
(3) (1) e (2) S
(4)  wH wofd
The Superintendent and the police force of a district is under the control of
(1) District Magistrate
(2) District and Sessions Judge
(3) Both (1) and (2)
(4) None of the above
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84. WFE Ao TR Tata, va Igfavame uwE e 39 & 2 9hg gaig e
#. B, Ofm fawrmer gan Isfavery waig s 39,
g, AT IO BV SR TRV Tav Igfavan@ qard et 39,
%. I, qiferd ga Iefovard wE T wE .
g, o IS0 WS W 1 W SR TRUS AT 3gfavard TS AvEl e 3.
(1) 31 (2) FMUFFF (3) H FE (4) & MW g w4
Can there be prohibition against flying kites under Bombay Police Act ? Select the
correct response.
a.  Yes, Police Department can prohibit flying of kites.
b.  There can be prohibition of flying kites to avoid injury to persons,
¢.  No, police cannot prohibit flying of kites.
d. Flying of kites is a part of Marathi festival hence cannot be prohibited.
(1) aonly (2) aandbonly (3) conly (4) c¢anddonly
85. WS TIefW ®EEr, 1951 F g 7l 2
(1) == (2) TEATY
(3) WETTY Aoy T7E (4) UEWTY ST T
Bombay Police Act, 1951 extends to
(1) Bombay (2 Maharashtra
(3) Maharashtra and Goa (4} Maharashtra and Gujarat
86.  «im Ui #1¥er, 1951 THR Wiclodsh! S F7g & =1 7787 ?

(1) 14 Fuiten sreq Fam=n food F686 3191 GeRhEH qHU =0
(2)  EEHH Faf

(3) wEIE PN @B

(4) UERN FFNA dea AT HISATSAE HTer]

Which one of the following is net an offence under Bombay Police Act, 1951 ?
(1) Taking pledge from child not appearing above the age of 14 years

(2)  Cheating at games

(3) Gambling in street

{4) Impounding of stray cattle by a perscn
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87,  wiar=n SfqumrEh 83 #ft we gEl w gafad ?
(1) TETEe Seue TR g SeimiaT sTe .
(2) IS WeIG U TG AT TR A8,
(3) TV TSN Al eR W gy STRater .
(4) STEOTE FEATT TEwd fagmiar e T,

What does the Eighty-third Amendment of the Constitution provide for ?

(1) No reservation in Panchayats be made in favour of Scheduled Tribes in
Arunachal Pradesh.

(2) No reservation in Panchayats be made in favour of Scheduled Castes in
Arunachal Pradesh.

(3) No reservation in Panchayats be made in favour of Other Backward Classes in
Arunachal Pradesh.

(4) No reservation in Panchayats be made in favour of Hindus in Arunachal
Pradesh.

88. @Efiedh wordt Tm/favy sied qieig stfufrm, 1951 91 FEmerEY gMear Te g ?
(1) viefta gom= srefteor, femor sftr cr=ht wee
(2) e gom fafam, e 390 | ==ae i Tao
(8) wwelt wifaUsh ooy
(4) TESHS gouden 9 TSAr gUitrdar TEvanendt ey Sqrte
Which one of the following topics has not been dealt with by Bombay Police Act,
19517
(1) Superintendence control and organization of the police force
(2) Regulation control and discipline of the police force
(3) Offences against human body

(4) Special measures for maintenance of public order and safety of state

89. uiferm arfur=ar wichiad wiord waed ama 2
(1) 999 FAE0 A0 It FnaeAEe] Hol
(2) WS Iuga FoaTgrd Aafan
(3) (1) anfir (2) 3
4) (1) anfr (2) =d 1A
Which of the following is the duty of a police officer ?
(1) To serve summons and execute warrants
(2) To prevent the commission of public nuisances
(3) Both (1) and (2)
(4) Neither (1) nor (2)
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90. WM g8 ufEm, 1860 Hren &g T AR 9

3.
9.
.
B.

(1)

T I,
Y § HIRHI T ST S0 WK,
TH] F IR T & 6T 52 Higar IR,

31 B (2) F & ward  (3) % B (4)

The Indian Penal Code, 1860 is applicable to which area ?

a.
b.
c.
d.
(D

To the whole of India.

To the whole of India except the State of Jammu & Kashmir.
The State of Jammu & Kashmir has its own Penal Code.
Indian Penal Code is general for all States,

a only (2) bandconly (3) conly {(4)

A T T hekd

a and d only

91. Wreleeh o sifeafony gem wq=@Ea 71 g Faar ?

(1)
(2)

(3)
(4)

Jeg1 TEN FSHAY §1 T T S AT gETEl FRASIT I AT S TES
SeE1 WG HIHGY BT ATHETH HISUITA HAMT=AT HUd IR AHT §& el 379dr

AT A

SR T Sy THR o AR WA AT I gIed™ del 8

Fheteh od =iy

In which of the following situations is culpable homicide not a murder ?

(1)

(2)

(3)
(4)

When culpable homicide is committed in exercise of right of self defence in

good faith

When it is committed without premeditation in a sudden fight in the heat of

passion upon sudden quarrel

When it is committed out of grave and sudden provocation

All the above
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92, WRAW g8 Hfgar, 1860 W ¢ AT YOI HIAE FeA el 9l a T =ar,”
(1) & (2) 6 3y 7 {4 8
According to the Indian Penal Code, 1860 “Nothing is an offence which is done by a
child under years of age.”
(1) 5 (2) 6 3 7 (4) 8

93, R gl TEV gg HUAW A M e o9 qo A WRet wg 7 A @ and. $een @iy
I AR ?
(1) =7 Hel 529 ggaT U1d! Fa=ar .
(2) e fF IEY SAH RS § IEEER 378,
(3) = Tt e A @ Freom amRa.
(4) G TE YoV TEA WSl FeTEEN ARG AV Tedh TV FHBR TSN IHA H =
A JU $1 el IR,
If six men went to assault someone and three of them hit and three did not hit,
which is the correct response ?
(1) All six men would not be liable for assault.
(2) Only three men who hit would be liable for assault.
(3) The three men who did not hit are innocent.

{4) All six men would be liable for assault and each one would be liable as if he did
the entire injury himself alone.

94, e SiE wftdeET S e g om ?
(1) wiererd sishar dgan 1973 < a1,
(2) it T AP AT,
(3) e HIE) WA ATIRTE TSarH T AR,
(4) widrem ad ol S i T .
Which of the following statements about the Criminal Procedure Code is incorrect ?
(1) Criminal Procedure Code is of 1973.
(2) The Code is not applicable to Jammu & Kashmir.
(3) Some of the provisions of the Code are not applicable to Nagaland.
(4} All the provisions of the Code are applicable to the Tribal Areas.
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95. WivGH! MikE w@fgw 1973 sl Faty vl |ig (SureiemT) € FomRiar Sueey wed et

3R

(1) Tt (2) TR

(3) Tawaarritar (4) @ gwiear w9 AR

Under the Code of Criminal Procedure 1973, remedy of maintenarnce is available to

(1) Hindus (2) Muslims

(3) Christians (4)  All persons belonging to all religions
96, IR FHGEHS T g N1 91 7

(1) AR ggmer smmar & i a1 el

(2) Wi gt fr at fgiy am

(3) arE aTET I

(4) THA (1) TR (2)

In criminal proceedings, the burden of proof is

(1) on the prosecution to prove the guilt of accused

(2) on the accused to prove his innocence

(3) on both the parties

(4)  either (1) or (2)
97.  ug@ren difea geft = 99 dush QUeIHER SR 17 9 18 T¥ grEad 38, W T YRae HrRE!

qEt 57 18 99 Z3ifed 3TEe 91 v qEt @relle feen Jaig 9 ang ?

(1) w333 17 99 Jaia 9T sa.

(2) el = 39 18 a9 [E 9 g

(3) Uell ¥ 99 Tioex <A1 FAEN 36 SR ToIE qOaT foyasE T,

(4) HIE eas qUET SiET T4 qUeT YaT TS .

When the medical evidence gives the age of a victim girl between 17 and 18 years,

but documentary evidence shows the age to be 18 years, in this case which of the
following responses is correct ?

(1) The girl’s age will be considered 17 years.
(2) The girl’s age will be considered 18 vears.

(3} The girl’s age will be considered as per doctor’s opinion if documentary evidence
is not reliable.

(4) Documentary evidence will surpass doctor’s opinion.
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98.  WIER! Yi dfd, 1973 oo Wielieriehl v TEel @-A1 3 ?

¥ Wfew I ygE /e A Im g 3 AReR T wedl 99 AfYwR eTm e
TGS {ATE1 908 Qe SRR g1 aTve ewat.

9. g gfvw Atean 5 suen temn s=Rhen aesd s #iien agd @
VTRl T Hed Aiaeard el Hed U0 33N oIehie HiEes hdsy IE.

F. TEE G A GG gE-A AW =i, hl Nl @Al SiedeEd SEnEaE |
TEEUTH -8 FHId 3TTg, I 3TH Hed GIferd 30aTd 5 e,

. o nferm rfieer e Swivcrd) Sehien forTeare e Soar TiYeH 378 1 vEn
I 7o FOATEHIT AT Yo HRILATATEE AT Fogl TSarl HF Wehdl.

(1) % (2) 9 Y&

(38) 3,9 WU H (4) 1,9, AT g

Which of the following is true under the provisions of the Code of Criminal
Procedure, 1973 ?

a. A police officer superior in rank to the officer incharge of police station can
exercise the same powers throughout the local area as may be exercised by the

officer incharge of the police station within his jurisdiction.

b. Every citizen is bound to assist a police officer who demands his aid for
preventing the escape of a person whom such police officer is authorized to

arrest.

c. Any private person can also arrest any other person who, in his presence,
commits a non-bailable and cognizable offence and can take him to the nearest

police station.

d. A police officer authorized to arrest any person without warrant can pursue

such person to any place in India outside his territorial jurisdiction.
(1) aonly (2) bande

(3) a,bandc (4) a,b,candd
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99. WRdE Q1 FEE, 1972 =R QUar A1 §HEE @ieftedshl HoreT e geararene sava

grara ?
A, AT T FERT AT
5. e g

F. A" AVEAR ARG T8 heaeees Saoiel e e,
T 98 sde wifer sifterr-ammn ger smdifaeg oo sgeft s
3. AR s WS Tee T ST 908 98 soidl wme S

(1) Fafs 2y H, 8o

3) H, e FaaTE {4) o, g 7M1 7

The term ‘Evidence’ as described under Indian Evidence Act, 1972 includes
a. Oral and documentary evidence.

b.  Circumstantial evidence.

¢.  Confession statement of the accused taken by the Police Officer.

d. Confession of the co-accused against the main accused given before the Police

Officer.

e. Any affidavit suo motu submitted by the accused though not sought by the

judicial authority.
(1) aandb (2) a,bande

(3) a,b,candd {(4) c,dande
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100, W g8 wigan, 1860 3iarTd Wieiicdeh! SV STell T[T A1 HeUd IR 75 2

H.

(D
(2)

(3)

(4)

TiFe YN EHE UF SAATE HIBSIEE AT A YN ZEcA  SiFetat
AT L

Siaetd TR WIEE qUEeRHE Tagd dl el UM e oy waeE A g
AR IR 3 Wiflidea™ we Sge I SRl SRatd §eg. Seds S Jogd
FHUMT AedT=ed T3l

IR ITAT SR JSrAT WG TETET saehiel e ArearE.

et od TR o

FHeTih! Thd) el Hewd Id ATE
¥9w T 9 F TR A

9 F TR o, T A

Which of the following are not offences under the Indian Penal Code\860 ?

a.

(N
(2)
(3)

(4)

Doctor charged with culpable homicide when a patient dies during surgery
performed by him with due care and with the consent of the patient.

A patient dies due to shock on a doctor revealing to him in good faith after
diagnosis that he is suffering from a disease which is not curable and is likely
to result in his death shortly.

An insane person killing another person when not in his senses.

All are offences
None of the above is deemed to be an offence
Only ‘b’ and ‘¢’ are offences

‘a’ and ‘¢’ are offences, ‘b’ is not
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(8) ygfGee fifda oo fafine smire = m(w %) S8, WwAgcar=RiE IaEhEat a1 @
FNEA W HW FedTH o Hidl FOITEAT JEHH FA IR, W A T 9 WHER I ITHAH
I Heew ‘whgme guren ywrer vfiiey sowmeae sfufre-s2’ orde awdeer s
oI T4 T St = FUTE U aui=Ar HREEr /e T w g9 e serea i
Riel 68

(9) W WA aEnT fafm el 95 G SHEEUET # YwqiEET Tl Tt
Y W @ SR, AT UgTEaTE FuaTEi IWEARM et STAHET W1
AT A T W w0 AEvas o,

AT SIe
7. %. 201, AN 9 TR FOAWERE! HU I WA w2
(1) T garg awEdt (2)  Svatse fammami
(3) TS WHIE 19 (4) TiATSEA THES
WA T I C(S) TSN TwHEiE GO0 AR oTe. =g Wy I 3) .
TR WIS 1%, 201 FAlE sRFEHS @) 3 9@ [N ST s
TGO STEvER AR,

ssx.202. QO @ @ @

A T R TR Yede YT queEl SOGREIh B JRETen wEaied qEsean
IRl T T THEHHIEE TEiud ade [oiae DEiha s STEaE], et
TR FIHAT Ve SierdA arare, UfRer ar we 9a e .
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